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What's Going On?

Learning Goal ­ I will be able to create quadratic functions
from given information.

Your Thoughts...

Family Ties

Families of Parabolas

TIPS
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LGL
Determine the roots (zeros) of the given function.

and
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Unit Test
Thursday
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Family Ties

What do the quadratics in each group have in common?
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Family Ties
What do the quadratics in each group have in common?
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(­2, 0) (5, 0)

(­2, 0) (5, 0)
(­2, 0) (5, 0)

The ________________ Family
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Family Ties
What do the quadratics in each group have in common?



Families of Quadratic Functions

9

March 23, 2015

The ________________ Family

(3, ­2)

(3, ­2)

(3, ­2)
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Family Ties
What do the quadratics in each group have in common?
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(0, 7)

(0, 7)

(0, 7)

The ________________ Family



Families of Quadratic Functions

12

March 23, 2015

All in the Family

Family of Parabolas

A group of parabolas that share a common 
characteristic.

There are three types of quadratic families:

1.

2.

3.

Zeros (x­intercepts / roots)

Vertex

y­Intercept
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What's My Equation?
Determine the equation of the parabola with x­intercepts 
­4 and 3, that passes through (2, 7).

Because we have both x­intercepts, we should use 
the "factored form" equation.

y = a(x ­ x1)(x ­ x2)

The zeros are ­4 and 3.

The x­value we have is 2, the y­value is 7.

*Be sure to plug the zeros in properly.
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Welcome to North Bay!

The entranceway to the city of North Bay used to be an 
arch that can be modelled by the equation of a parabola.  

If the edge of the arch is the origin, and the arch is 30 m 
wide, what is the equation of the parabola if the height of 
the arch 4 m from the edge of the base is 9 m?
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Modelling
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Modelling
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Modelling
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Modelling
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Modelling

S(t) = 0.29(2015 ­ 1990)2 + 21
S(t) = 0.29(25)2 + 21

S(t) = 0.29(625) + 21

S(t) = 181.25 + 21

S(t) = 202.25

The model predicts that approximately 202% of males 
between the ages of 15 and 19 will be smokers in 2015.
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Modelling

Sub in 50 for S(t) and "solve" for t

50 = 0.29(t ­ 1990)2 + 21



Families of Quadratic Functions

21

March 23, 2015

TIPS
A tunnel with a parabolic arch is 12 m wide. If 
the height of the arch 4 m from the left edge is 
6 m, can a truck that is 5 m tall and 3.5 m wide 
pass through the tunnel? Justify the decision.
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